The SnapPiCam v1.3 Parts List
http://thelittlebox.co
	Part
	Link
	Required

	
	
	

	
	
	

	Raspberry Pi A
	http://uk.farnell.com/jsp/search/productdetail.jsp?SKU=2254699
	1

	Camera
	http://uk.farnell.com/jsp/search/productdetail.jsp?SKU=2302279
	1

	PiTFT
	https://www.adafruit.com/products/1601
	1

	LiPo Charger
	https://www.adafruit.com/products/259
	1

	LiPo Fuel
	https://www.sparkfun.com/products/10617
	1

	Battery
	https://www.adafruit.com/products/258
	1

	Step-Up DC DC
	http://www.pololu.com/product/2562
	1

	Card Holder
	https://www.adafruit.com/products/1569
	1

	8gb Card
	http://swag.raspberrypi.org/collections/frontpage/products/noobs-8gb-sd-card
	1

	Switch
	http://www.maplin.co.uk/p/single-pole-sub-miniature-ff77j
	1

	
	
	

	Wrist Strap
	http://www.ebay.co.uk/itm/121031196917
	1

	
	
	

	JST LiPo Extn
	
	1

	DuPont Female
	
	7

	DuPont Male
	
	5

	DuPont Five Cover
	
	2

	DuPont Single Cover
	
	2

	Foam Strip (3mm x 12mm)
	
	1

	
	
	

	Acrylic Parts
	http://thelittlebox.co
	26

	
	
	

	M3 Microbarb
	http://thelittlebox.co
	4

	M2.5 MicroBarb
	http://thelittlebox.co
	2

	M2 Microbarb
	http://thelittlebox.co
	15

	
	
	

	M3 50mm Screw
	
	4

	M2.5 8mm Nylon Screw
	
	2

	M2 12mm Screw
	
	4

	M2 8mm Screw
	
	4

	M2 6mm Scew
	
	7

	1/4-20 Square Nut
	
	1

	
	
	

	M3 4mm Nylon Spacer
	 
	2





The SnapPiCam v1.3
Creative Commons Attribution-NonCommercial-ShareAlike 4.0 International (CC BY-NC-SA 4.0)
http://creativecommons.org/licenses/by-nc-sa/4.0/deed.en

